1. Create a table using f(x)= x? + 5 for the domain

of {-3,-2,0,2, 3} % \J

£(-3)= 345 = 14 =
¥ (-2)= (-2¥+5=19 -21 q
C(D)=(oF+5=5 olg
F (=@ 15=9 AR

314

€(?) = (Y =4
@

FTRaThe Jope TTom the 2 Bointe:

a) (-9,3) & (23 m=0. oV,
b) (14, 6) & (2, -6)
&) (-5, -8) & (-5, -4) K =X,

Q) Y~Vales SSAME
LY - _ g |
2ty 2

C) X-VqwsS->SAME
M= 9‘)

m:]

3. Translate to an equation and solve:

Find/3)consecutive]integers whose/sumlis 72
X =153} -25 3x+2: =72
Kii= 2.2 0 =3
Xfe=2"-23  2Zx=-75
3 B
Yer 26




#1 Finding slope from a TABLE

(FROM WS 51,

Find the
difference X Y M= 2 2
o

between

each Y-value 2 3

and between

each X-value (
- O

T
*/<1 9>"*Z S

=2
2 110t
t2 2--7
+5<Lé1 \5>H |




#2 Finding slope from a TABLE

Find the

difference X

(FROM WS 51!

between
each Y-value _3
and between

each X-value [H| Pl _2

5_ _ M==2=3



#8 Finding slope from a TABLE

(FROM WS 51

Find the
difference X
between
each Y-value _1
and between
each X-value -|—zé 1

+2 £ 3

R

v, 5
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#9 Finding slope from a TABLE

Find the
difference
between
each Y-value
and between

(FROM WS 51

each X-value 5./ _2










Slope and Y-intercept from an EQUATION

1. y=-2x-4 m=

5./4/+y=3 m=
-AX = 4X

Y=gy

6. x=wy-4 m=
“g 4

(From Slope Practice #30)

s Z
=% b= =5
- p=_-4




Slope and Y-intercept from an EQUATION

(From Slope Practice #30)

7. x = -6 m= @ b= d

g /
| e i)

I (-6,2)

i (-6,-8)
9.}04+5y=25 m= —2  b=_5
X —X

) =-lox+25

5 > 5

Y=-2%+s

i 3
11./;-2y=3 m= o b= —
K =X

-Zu= ~ X432

72 22
=Ly 3
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